2 Klapptest — Termumformungen 10

Falte das Blatt entlang der Linie und berechne.

1] 3dze+Edze+2de—de2+2d—5d2e+2dge+de = Edze+3de—dez+2d

2] —3aﬁ+3a+azi—3&314—3a21—ﬁaﬁ+33+5a21 = —HaE+Ea+3&Ei—3&314

1) —4[11[14—Edgmg—4[1417H-2|n3+ﬁm—[hn4—[12m2+5[14m = —5m4—3d2m2+[14n&2m3+ﬁm

4] 3114E—Eh3n4+3h2n4—hﬁn+n5+4h4n+2h3n4—ﬁh2n4 = Th4n—4h3n4—3h2n4—hﬁn+n5

h.) 352+Erz52+rzs2+2r52—2r—552—4r252—4r252 = —252—r252+2r52—2r

b.) 51'1—2]-'.]'1—2]-:]'12+]-'.41'13—I':i]-'.dl'lg—I':il'|+5]-'.]'1—2]-’;]'12 = —11+3]{]1—4k]12+k4]13-ﬁk4112

] 2&2n4-335n2-ﬂﬂ-EE2H+5E-EEEH4+4EEHE-EE = —4ezn4+eﬁn2—35—ﬁezn

B.) Ee2—3dez—4d332+ﬁd2e2—4d53—3e2+d52—4d352 = 2&2—2d32—3d3e2+ﬁd2e2—4de3

9] Eh2f5+hfE—Ehf—EthE—2h5f2+h2f5—ﬁhf2+2hf = l:lgfﬁ—ﬁlilfg—dhf—ihﬁf2

10) [1—4[1—4113[12—411[12+2[14—I':i[l+3[l—21:l3[12 = —l5[l—l5113[12—4h[12+2[fi
Ergebnis:
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